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Topic:- Child Development & Pedagogy (CDP)

1) The least important reason for assessment in a child-centred education is / anar-ﬂ?hr-r fram & H‘\?JJFF-I' FT I HH W“I'\Ui' ST

3-
1. monitoring their progress toward those goals / 3sT <I&aT T 3R 3eTehl WETT FI TAIRTAT e

2. active engagement of students in setting goals for their learning and growth / 3eTh 389 3R e & fov a8y [UiRa &= &
OHEl $T AT HEERT

3. determining how to address any gaps / fREY 8f 3RTer T TNAT W 1 FeROT
4. learn core content knowledge and skills / H&I AT AT 3R FereT

Correct Answer :-

« learn core content knowledge and skills / &I AT AT 3R Pl

2) How is aptitude distributed in human beings? / AT SATfa & Hﬁqﬁf Fa yeR ¥ Raka 2
1. The distribution is normal. / [3aR0T ITHTT %’I

2. The distribution is scattered. / faeRUT 31Edeaed gl

3. The distribution is skewed. / TdaR0T v %I

4. The distribution is multifariously. JAE: Rl %%HHTW %’I

Correct Answer :-

« The distribution is normal./ﬁ?—!TUT AT %’I

3) The mental representations or ideas about what things are and how we deal with them are called / FE qEg F4q1 % 3k & 39F
T F FGER A ¢, 39 Awa # 39 3 Awfaw wfaww a1 REw # Fe e @

1. Constructs / fa&ToT
2. Networks / @ead
3. Schemas / THTAT

4. Structures / XA

Correct Answer :-

« Schemas / THHAT

4) In a classroom of 15 children where you have 15 different learning styles and 15 different personalities, child-centred teaching is: / 15

FTal Y F&T H ST HIH I 15 -39 H@er i Al 3R 15 eer-3re9r FFaca I a7 §, aIA-Ffeaa Raor:
1. Developing one lesson plan with one mode of teaching / Teh TRISTUT YU & ATY U IS Il [Ashidd Ha|

2. Developing a lesson plan by looking at every child and what his or her needs are / Ucdeh §Td I @I Ueh UIS JloleAT AR AT FIl
g, & 39 S Far §)

3. Developing a lesson plan targeting the middle of the class ability wise / &I ST &HAT & FLT Pl ofiaid Pl §'U T 916 Jitell
faenfla e

4. Developing a lesson plan that fits all / Teh IS ANeTeTT fapfAd a=ar &, o I8t & fow 39ged gl

Correct Answer :-

« Developing a lesson plan by looking at every child and what his or her needs are / Jcdeh STd P @I Ueh UIS JioleAT TAhfAd HIdl
¥, & 3 o Fr §



5) The theorist remembered as the "Father of Progressive education" is / "Sarfaelier a7 & 1" § T H I1g v I a
1. Friedrich Frébel / WsRe whiser

2. John Dewey / SifeT 5\%’

3. Jean Piaget / SfieT TSt

4. Graham Gibbs / ImgH [req

Correct Answer :-

« John Dewey / STl §'§

6) Piaget named potentialities and abilities as: / I F aTAa3 3T Aegat Fr I A7 2T §:
1. Schema / Thr&T

2. Accommodation / AT (THIHS2M)

3. Ego centrism / 3ghegdlld (33N Afegod)

4. Assimilation / 3TcHETchTOT

Correct Answer :-

« Schema / ThrAT

7) In Discovery Learning, the teacher plays the role of a of learning. / =90 (f3FFad)) e &, RaTw fOaTT F v #r
sfaT fema €

1. Counsellor / HellgahIX
2. Facilitator / GH«ddh
3. Manager / 998

4. Inspirer / 9
Correct Answer :-

« Facilitator / GHeddh

8) Special Education is related to : / ey e swa eafla %:

1. Training programmes for gifted children / UfQ3memTel STat & forw ufNaor FRIw
2. Training programmes for teachers / feTen & forw wireToT HrishaT

3. Education for talented people / Sfaiammemelr «ei & forw fRram

4. Educational programmes for disabled / fasrerien & forw fars HTdhA

Correct Answer :-

« Educational programmes for disabled / fdsetialt & forw df&s wrima

9) intelligence is associated with faster development / TEAAcar, diaaw [ew & G_|1?=°f gl
1. No intelligence/ﬁﬁé’ Tga'ﬁ B}

2. Medium Intelligence / FEIH ﬂaﬁT

3. Higher / 3T

4. Slower / #ig

Correct Answer :-

» Higher/3=d



10) How do learning theories characterize the role of the parent in their child’s development? / 3Ty ﬁayi?r, ATar-far Y Sf\ﬁi'ﬂ' HI
3% To § RAew # F¥ Afted wa@ &

1. As trainers / 9fRI8TeRl & ®T &
2. As teachers / fI8TepT & &9 &

3. As partners / SIPTNGRT & &7
4. As supporters / FAYA F & H

Correct Answer :-

« As trainers / 9f6ThT & & H

11) Sociometric analysis of a group is used in measuring personality as a/an method. / T g % wATSATT faeeyor &1
3TN SAfFaca F R & ¥ & A9 & e fwar a2

1. Observational / J&ToT

2. Objective / a’@ﬁ%’

3. Subjective / STTFATASS
4. Projective / T&TdY

Correct Answer :-

« Objective / aﬁﬁ“‘d

12) According to Williamson, which of the following is the benefit of Directive Counseling / fafergaast & HER, Pfafaa # @
Fler e wret 1 aner §?

1. Emphasis is on the intellectual rather than the emotional aspect / #TdellcHe Tge] & T m R IR fGar Jrar g

2. Does not guide counselee to be efficient and conﬁdent/ifﬂﬂ' 3R 3meEEa g & fav AL o aTey & ARG AET LT %l
3. Make counselee dependent / GRTHET ofel @Tel &l A8 F=iTaTT|

4. Kills the initiative / 9goT ol GaTell

Correct Answer :-

« Emphasis is on the intellectual rather than the emotional aspect / HTdsTlcae Tge] & g a’fajﬁa: W SR fear Srar

13) Orthotic devices are designed primarily to ./ 3itaffesws sgaont #r qET T ¥ F o Beea gl
1. None of these / o787 & IS TgT

2. support a body part / T & 3N A FAAT ¥

3. repair a body part / R & GEH T FFAT et

4. replace a missing body part/ & glal dTe 3731 & SETE o9

Correct Answer :-

« support a body part / SRR & 3N Fr FHST

14) Assessments regarding the outcome of students’ learning is known as assessment. / BT & AT F aRUMH F AT
# srwaT A Aediwd & T A AT S0 B

1. Diagnostic / #eIfete
2. Benchmark / S9&H&R
3. Formative / TdIlcHh

4. Prognostic / fageT

Correct Answer :-



« Prognostic / TigreT

15) Which of the following orientations falls under the stage of conventional morality according to Kohlberg? / Aafaf@a H A Fl
| g (RTA), Fgaadt F HqaR TRINF AfdFwar & @oT F et mar §2

1. Orientation towards punishment and obedience/ U8 Td 33T & Ui Jfeiehefel (3RweeE)
2. Social concern and conscience / TTHTSTER E?'I??lﬁ IR {Es

3. Morality of universal ethical principles / @TdsifA® aAfaw 'H(\F?Iﬁ #r Afderar

4. Instrumental purpose and exchange / TGP 3%'5273[ 3R fafrma

Correct Answer :-

« Social concern and conscience / HTHIoEh H@ﬁiﬁ IR aas

16) Which of the following is not an example of extrinsic motivation? / fAfaf@a # @ &l STEIUIO T 3qlg{oT -'-l'gﬁ' %‘?
1. Salary / dciel

2. Praise / 9R/ET

3. Passion / Sfefel

4. Promotion / Uglesital

Correct Answer :-

« Passion / Sefel

17) Which of the following is TRUE when the teacher engages in Guidance and counselling of children with special needs in school
education? / 5T et Rgmert fRram & RAAY sraegwant aror a=ai & Avigee 3R Wt § aed wa § A AT F F Fw
e 82

1. Teacher’s own professional growth is evident / {18 T IAT caraa¥ew Ay Tose B
2. Teacher can get rewards, recognition and promotion / f18T Mg, A-TTT 3R Ugle=ila I THhd &l

3. Under the teacher's guidance, students will feel secure and more engaged in the learning process. / f1&Td & #ATIELT &, o7 e Hir
vfsrar # gufara 3R fRe soed #gqy w41

4. Under the teacher’s guidance, students get special attention./ {167 & #T9 gl #, o T QAT Y ured g gl
Correct Answer :-

« Under the teacher's guidance, students will feel secure and more engaged in the learning process. / {167 & TG &, orF 3@ Hr
vfshar # geiard 3R e coed #Agqy w4

18) Which of the following principles refers to the understanding that objects continue to exist even when they cannot be sensed? /
farafaf@a & @ Fla @1 Rguia s gaer 7t wSia #tar ¢ F avqe av ot Algg e § 9 37 a@r a1 sregore it fear
SIT Jhdl?

1. Conservation / TRETOT

2. Object permanence / T¥] Taidca
3. Theory of mind / HeT T fHgHTd
4. Animism / Sfraarg

Correct Answer :-

« Object permanence / T&J rafidca

19) Thorndike theory of trial and error learning has emphasized the importance of v q'uc—«r-gﬁ. FRIA & gresEs
Rquia & & Aged W AR Ram 21

1. Motivation / 90T



2. Rewards / WIT
3. Praise / 9TET
4. Punishment / &3

Correct Answer :-

« Motivation / 9XOT

20) Punishment and rewards are the components of ./&8 sk Eﬂ?\qﬁ?{ ¥ uUeH %I
1. Behaviourism theory / cIdgRdIG fAgia

2. Design-Based Research methods / f3eget-3meana W‘iﬂﬂ' afer
3. Humanism theory / #AlAddTdIq ﬁ?{f-ﬂﬁ'

4. Connectivism theory/ FaTSTehdT m

Correct Answer :-

« Behaviourism theory / SIdgRalG fagwid

21) Child-centered education uses / STeT-Figd AT fAFT T 3TAT FI@T &
1. Divergent exposure / fafaer yeela

2. Year-end appraisal / ¥-37c ?FI‘\@TIW

3. Linear exposure / Y& el

4. Disciplinary force / 3To]RMHATcHS el

Correct Answer :-

« Divergent exposure / fafaer ggeiet

22) OCD denotes: / 3= FT 37T &

1. Obsessive Conduct Disorder / Te0f@d hsae B3R

2. Obsessive Compulsive Disorder / 3{Te0f8a Fegfeda BT

3. Oppositional Compulsive Disease / 3TAITI2lTel shedfedd Sl
4. Oppositional Cognitive Disorder / 3TANfALTeT didaiifed BE3TT

Correct Answer :-

« Obsessive Compulsive Disorder / 3is0T0d seufeda BE3iET

23) The same-sex friendship prevails during /@& Bwar & <kier wafaa gt &
1. Early adolescence / YR foheiraeem

2. Early childhood / IR Sa9sT

3. Late adolescence / FET foheiRTa<m

4. Late childhood / AL ddYod

Correct Answer :-

« Early adolescence / R frenrasar

24) The flexibility of children to adjust to any circumstance is known as ./ 5 s oRfRufa & gooT @ a e seat &
ceichoi) & W # @1 e g

1. Rigidity / Ted
2. Desirability / aTSIdT



3. Inability / 3&THAT
4. Plasticity / GeleTilerdr

Correct Answer :-

« Plasticity / Seler2ierdr

25) What IQ score tends to identify gifted children? / SfQsTeITel s=al Y ggarT FId & HidA-AT 3TI%H-'¢[\ THIT Iqed grar 872
1. 170 or higher / 170 a7 3T

2. 130 or higher / 130 a7 31f8

3. 70 or higher / 70 3T &

4. 120 or higher / 120 37 37f&

Correct Answer :-

« 130 or higher / 130 T 37f&=

26) What type of response is learned through the process of classical conditioning? / TR 317],?%17{ (Fefwa HefAeT) A giear
& wred ¥ frw yeR i wfafear @i ar §?

1. Unconditioned response / ﬂﬁiﬂaﬂiﬁ gfafsear
2. Reinforced response / Jaferd Ufafshar

3. Conditioned response / ETWH gfafsar

4. Neutral response / Te€Y Ifdfshar

Correct Answer :-

« Conditioned response / m@agﬁ?r gfafsrar

27) The best method to study growth and development of the child is / Rt F=a #r gefr 3R T F1 reawe F=
&1 Wafeaar adiar &

1. Comparative Method / Jefellcqish fafer

2. Developmental method / fasraTcas fafer

3. Statistical Method/ &if&aehr fafer

4. Psychoanalytic method / HA=ilfdgeioTcAs fafer

Correct Answer :-

. Developmental method / erarcaAs fafer

28) Hierarchy of needs is an important perspective of motivation was propounded by / HTGRIFHATHT T ele]sh, RO T TH H?ﬁ"[\ui' qRYeT §,
O s qanr wfaarfea R o am:

1. Maslow / #TEGAY
2. Piaget / Tramat
3. Pavlov / Yidelld

4. Freud / 1S

Correct Answer :-

+ Maslow / ATEAT

29) Which of the following operations helps us to validate information? / PFafaf@d & @ i @ FRI-[ART (3TN g FTTHH F1 AT
T H e A §?

1. Evaluation / W



2. Divergent thinking / 3798 RIdeT
3. Convergent thinking / 31f&aRY Rider
4, Cognition / TaTeT

Correct Answer :-

+ Evaluation / Heiehet

30) Among the following, mutual support is found more in / Afaf@d & ¥ TReIR® |ggeT 3'\‘!'# 3OS 9T AT %‘:
1. Groups / HHg

2. Teams / &1 H

3. Society / §HTST

4. Classrooms /EE&HT?'IL%'

Correct Answer :-

« Teams/&H

Topic:- General Hindi (L1GH)

1) 9R- W9 T Ted W1 21 TP 73 Sia--QAel 301 Teied T B T6t § | STP AT 31T QT & U 7471 o1a-1-g=i--3UHITTaIg &1 e | It dg
R R Y IR 3R | T8 I P AT B; mad Wi & e R, e @ & R ¥ g Y saren aea S 81 Suvhr-i € g €1 v geH gedTd
2 7S fRufy #1 Seurq |t 3mud e €, W 3Ty a8 Yot Wi € b SIA-3reiA 3rel & Area § 3mueT =i Y e 8T @ 3R 3Ty IUTe B qaftd g o IR ¢

faenfrar 3 Tl @ IR HRT ST 8, S ST qUIA B ofi-dis Bk & FRar aft tedht §1 e ofies & o om areht axgeit &t € <fifsg) gy-ie
T1TRY? g Sial BT At ST THSTAT ST 8, TS e B g7 geTdl 8 | U8 TYS! B Agd Fdl & 3N 98 Yol YRair 3T 81 98 Ud H& ol diH-uR e
3eT-3rer $X4 €, el Uve 1 A widen 31 91 aqw a1 Fw & qoi A W 8, aﬁ%aﬁﬁ gt gRT TWpd 94T AT awfa ok @i ol A ST 8
St 918 g Sifre | afe IRe oresT B, df g=1 W SresT EIHT TR PR, W, §H1de, Ugd 3R WBTS $1 &Hal § SIeh-3(ehl, Th | dgb? U | Hg P gy &
T & fore ey o=y of wnfe ) G o off widlt &) Il §; W ga- €1 el &1 fa STt 9T 8 Wi, wife Sy wmae agfamniud SR S gis €
Tt wie oY | Wed yarel Y g o wepd H 3 arelt -3 urg S T3 qﬁma@%mﬁ%lwa%@ﬁ TP # gt G 3, G A A1 T
feUR 3 IR 1 AR-aTeT TWT &, GO GHHT el B, AT ol A U 361 BT 81 98 oo R el & Higd &1 W, I71 u-uwie agH|
TS &1 o THgET 9red €, U8 R TR &Y ufa v argd #1 a8 e 3 vera § o+ A | awe @Y 99 T@m $ e gy Aifte-ag i g, w
3P el § Frar @ it Fuia afgarst 1 IRAT aa W fu-d guR $1 died wradt g1 oY angedt ara 21

ITR TR B UGB 1 IS T U= $T Sx ga1s¢l

W §9 9GETd § STUDT T 94 91 ¢ S¥ 7 fpvret wafta g o 73 82
1. 9T ok I

2. 91 3R |g

3. Ticd ok g@

4, T2l 3R g@

Correct Answer :-

« TRF 3R IdIG

2) fR-9R W9 $O 95 BT &1 TH S Sia--Selt U1 Teid RITUd $X Q) 1 SHP FIY 3T 8T § TP 4T Si1g---SUHTTarg HT a=i- | ITed agM
TR 9R ¢ TRY 3R | T STe 2Mud e §; Mmud T & T ], o g@ & T €1 g 31 orel ged 718 ¢ 1 STHN-HIT €1 @ 2| U g&d daand il
2 73 R 7| IeuTe Y 3y T §, W 3Ty a8 Y o1a & fob S-S 3Tl & ATea § Smuet =fva o aga Y61 @ @R 3y Saure &Y wafdd g o 3@ 21

faremfraT 3 Al | IR R UST 8, S STUS! U B oil-dls BRI & e @it tgdt &1 3w e & o™ o arel axgsil &t €t i) gy-ie
I1TRY? g Slal BT Hidt ST THS AT ST 8, TS e B 7Y geTdl 8 | I8 TS| B Huigd Sl ¢ 3N 98 Yol GRaT a1 81 98 Ud Hd ol diH-uR Ue
3(ET-3e HA ¢, el B 1 A wifen 81 IS 999 91 A S N A W B, PIS BR-GFET g1 Wipd Ut 7 IIfd SR @ i @ a8
St 918 g Sifre | afe 9Re oresT B, dt g=1 oY SresT BT TR TP, W, §H1de, Ugd 3R WHTS $1 &Hdl § SIeh-3(eNl, Th | dgbr UH | Hg 3 gy d
T & fore wrey arzr of TR O ok off ot &) awt 7; wsa-ﬁ'aiﬂvﬁmﬁ?rmuﬁws‘rm mﬁﬁ?mma'gﬁsrrﬁaaﬁ?aﬁmﬁmﬁ
wie e o¢ | died yaryEl # g o wepd $3 3 arelt 3-8% Uie Sud T3-0 STe IS o €1 |ig &1 3fAd, e o gedtl gwg B, g § avl| T
feR 3Mud IRR F AR 3@ 8, GERT YA Aepelt 7, TR oaf A Sirut e Fovar 81 gg e R wrd F wed &1 vgw, 391w gl
=g o1 3 qHEHET A1ed €, 9 e IR F1 ufad @A ared €1 ug @ Y et § a7 g | and) &1 T @A & o a8 Aifve-wd i g,
3 Hiegd § Frar ar it Juia aftarst @ SR e W - goR Bt Higd wrh 1 oY e 919 21

IWIT T B UgHY 1 I 7T YR HT I«iX gaTsy|
ET: STHIEIT B T Ul GRaT 3aT 82

1. AIQY-aT

PACIGIRIRIE]

3. QYU



4. U

Correct Answer :-

. QTR

3) 9R-f 99 7O vaa T6T 81 TP % oila--reil U1 quied R H2 & 81 IS WY 31T TET & TP 41 Sliaq-g=[H-3uniadrare &1 g2+ | IUTe deH
R R 8 IRY 3R | I8 Iaure MU 1T 8; 3muss Wi & I 2, simudh g & 1w 31 g’ &Y e ged 18 8 1 SUHNT-41T €1 49 81 TP e Ieard i
2 S fufa #| Saure oY omud T €, W 3y 9 Y& oi1d € % S-S 3T & Areid # Syt afv o aga ¥eT € 3R 319 IauTg &) FHfid gid o 78 €1

farefraT 3 AraREl | IR R TST 8, S STUS) qUA B oil-als BRI & ey aift tgdt €1 3w e & o om areh axgeit &t € dfifvm) gy-ie
1TRY? g Slal BT it ST THSTAT I-1GT 8, TS e B g7 geTdl 2 | U8 TYS! B Hgd Hdl & 3N 98 Yol YRaT 3T 81 98 Ud H& off diH-uR e
3(ERT-3e HY4 B, el Fe 1 A wifen 81 B aq9 91 HE S TN A WR R, aﬁ%wﬁr Rt gRT TWipd 94T AT awfa ok @i ol A ST 8
St 918 g eifre | it IRe oresT B, df g=1 oY SresT BT AT PR, W, §H1de, Ugd 3R WBTS $1 &Hal § SIeh-3(eNl, Th | dgbr UH | Hg 31 gy &
T & fore ey arr of @R gt ok o <t 8) Il §; W gant € el @1 faw S1wt gt 8 wime, mmwagﬁsrrﬁaaﬁ?aﬂmﬁmﬁ
e g HY e yRnel Bt s @ THepd R & aredt 8- e IHH T3- I Fod o §1 H1g € 3, v A veoht @R R, g A O T
feUR 3y IR B aR-aTelT TWT B, GO G el B, A=t onad A U T&T e 81 98 e R el & Higd &1 W, ITH1 uAuwie qgH|
T=TE 1 3 FHAT TR T, T8 | TR BT i a1 argd ¥ a8 R S e B 59 A | 3wl @) 9 R & e ag dfve-adi g, ®
3P Wied ¥ Frar @ it Wyia afgarsi 1 IR aa W fu-d guR $1 died wrdt g1 oY angedt ara 21

UG T Y UghT A1 IS MY WA BT Ik Ia15y
U=: i gU-Ue 33T 8, <t 3R T 33T g1 A1fe?
1. e arer

2.9

3. TU-SA

4, AT3Y-aTA

Correct Answer :-

. TUFA

4) 9R-¢fX U9 $° Tqa 6T 81 TP % Slia=-Qel AT aeiva RIIUd 63 I8t 81 IqP T 3T VT @ Teh 74T Slia=-g=i+-3uHIaararg &1 g9 St geM
TR ER 2 IRY 3R | T ST MU T 3; Smud +iT & Y B, o g@ & e 31 g 9 aren ged 713 81 SUHNT-4I €1 49 7 1 U ged deang imal
2 7S fRufy 7| Seurg o 3y forw €, W 3y a Yo Wi & b SIA-2rei 3rel % Aigte # SmueT e i e 6T § SR 3y IUTg o gHitd g o 32

faenfraT 3 Al | IR RT UST 8, S SITUH) U B oil-dls BIRIR  fiar @it tgdt &1 3w e & o o arelt axgait &t &€t difo) gy-ie
IRT? TE aidl & Wit ST guestan ST 8, 98 He @1 gy gerdl 81 98 HYS] B Aeigd Pear @ AR g8 *qul G a1 1 98 U $d ot diH-uR I
S(ET-3(e B4 ¢, el Uve o1 AT Biden 31 I aq@ a1 A & o | W 2, B BR-GFA gRT WP aun 7 Tl R el gt | 181
St 1R g7 AR 9y IR oreaT B, oY g1 ot 3resT BT IR PR, W, SIae, UgT 3R WIS B &rHdl B 3e- 3T, TP § 9¢he UH | Y P gfu d
T & fore ey arwr O TR TR ofiR o ot &) Il §; wga——ﬁiﬁiﬂshaﬂfa?ramﬁaaﬁmm mmmasﬁﬁﬁasﬁ?aﬁmﬁaﬁﬁ
Wi wie oY1 died yarel # i @ awepd o3 TN arelt -8% ure S A3-d IATE JSa o €1 9rg &) A, Ue H e W, g F A1 T
AR 3MUP IRR F1 a=1-dATT I@T 8, GORT YT AebelT 7, =T o A SMTUST T8 HaT 81 Tg iorg R werd & wied &1 38w, 36T HAuRig qrg- |
TeTs o1 o gHgET dred €, g% | TR @Y ufaw v ared # 1 ag i 3 e § o+ A | awdt @ 9 Tam ¥ g gg difve-ag i g, w
3 Higd F Frar ar it uia afgars @t IR 2aa R -y goR ot Figd arsh g1 oY e 919 21

I T P UgHR I T T YA P I« qasq|

v T ot Y Afgensit #1 IR ew W e Fua # A S &2
1. g AR 9 gaR

2. AEgEd 3R &8 &R

3. forFaraet 3k &t F

4. 3T ALFES IR TE

Correct Answer :-

5) ¢fR-X 99 $© dea @1 81 TP A3 Sia4-Relt U1 g=ivd TG B I8 31 IqP TTY 37 IET @ Th =747 SHta=-g=i--3uHisararg T g1 St gem
R WR § 9IRY 3R | g8 ST 3US AT §; 3Mud Wi F AU §, 3nud Y@ & 10 § 1 'T@ &Y ARen 9¢a 1S § | SUHRI-IT € J9@ § | TP Geu 98ard 3mam
g 7 fRufa & | Seure oY 3mud T §, W 3y 78 Y@ oiTa & fob S-S 3i1eT & Agta § Syt =wive oft aqa Y81 § ok 3y Seure oY wHiid ga o <) B

farenfRrar &1 GrEREl ¥ IR WRT UST 7, S 3TUh! qUA B Sit-dls SRy & fAar @l Tedt €1 e siiaw & &1 oA arell aegail &1 €t difve | gy-ive
T1TRY? g Sl B At ST THSTAT ST 8, T§ e B g4 geTdl 8 | U8 US| B Agd Hal § 3N 98 Yol YRair a1 81 98 9a HYd ol diH-9R e
SET-3AT B &, fordl e &1 A W%lﬂﬁémmﬁu%gﬂﬁﬁwé aﬁisﬁﬁr i gRT Ted a4 AT g 3R @fel deal § T 81
St 1R g7 AR 9y URe oreaT B, oY =1 oY SresT ST IR SR, W, ST, UgT 3R WIS B &rmdT B 3enT-3enT, U | 9gh) UH | g P gy I
T & fore ey ar=r of TRl Tt o o ot &) Iwd! §; W ga- €1 el &1 fd STt I 8 e, wife Sy wmae agfasniud SR S gis €
weT yHe BY | Wi wEe Y ofis o THepd B3 3N areh 28X ATE IUH 7A-71 ST ISa o ¢ | Wi & 3%, T W ol @ ], g F AW TP
AR 3TUF IRR F1 a=1-ATHT IGT &, GORT YT Aehell 7, THRIRT S A SMTUSHT T84T HaT 81 Ug iorg R werd & wied &7 38w/, 3BT H-URig AT |
T=arg o1 3 TuEET 91ed €, 98 v IR &t ufad e argd #1 g e 3 e § a7t wrge | aud) i t@m & fog ag Aifve-nd i ], w
MU Higd § fFrar a1 i | Fyia afgarst $t IRAT 2aa W F9-0 goR &Y Hied Inwht g4 o) argelt a4 &1
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